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2009E &= 20l A LBHSH
2A: MW
M OFEH XYM B8
cHRl s XAl 21t (Stel- &)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES Ol & oﬁwa Hns
M2 3t 7,443,723 2,155,710 5,288,013
OFE A XA &2 567,056 543,954 23,102
PNREADA =) 334,312 324,700 9,612
PNREADA | 58,214 47,062 11,152
101 14| 12,979 12,362 617
10 JIZHZ2=2XANsSES> 12,979 12,362 617
0 HIMIZHZAH2H) 12,979
o JlEg2 30,9003 » 180 * 29 11,124
o FHEUL(FIaH)
30,900& = 24 x 2H 1,484
o gxRIsIITY
30,900& + 6Y * 2H 371
201 LBt2A| 12,600 10,475 2,125
02 =329l 12,600 10,475 2,125
0 Al &Yl sl 12,600
203 YRF=ZT Y| 1,500 1,500 0
03 AMF=XAIFZRIHI 1,500 1,500 0
0 Magz2 & MM x2S 1,500
301 LetEa3a 4,000 6,500 2,500
12 JIEIEANZ= 4,000 6,500 A2,500
0 NIEAH HSALAHX QHEIE HME 2
& 20,000& * 100Y = 23 4,000
303 A2 3,000 3,000 0
01 Za= 3,000 3,000 0
0 RIAl N 3,000
403 KXISHHMSAE01H 24,135 13,225 10,910
02 3J|2S0ICHSHCHEH AF S HI 24,135 13,225 10,910
0 EZAIAE X 24 15,500
0 SEAAE X 24| 266,660% * 12& 3,200
0 XIEWARE A= EbI 452,910& * 12& 5,435
A& & It 210,000 210,000 0
303 A= 10,000 10,000 0
01 ZAaZ2 10,000 10,000 0
0 SH MEZI AIAZ2BIHSH) 10,000




2A: MW
M OLEH XYM B8
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401 Al&BIZL20HYI 200,000 200,000 0
01 A&l 200,000 200,000 0
0 NHEESEEI 23X MdASHI(6HSH
) 200,000
i 2HAA 66,098 67,638 21,540
201 B2 43,190 44,730 A 1,540
01 At=R2teldl 18,190 19,730 A 1,540
0 Bt==H| 16,930
0 2d=Y 1,260
02 =329l 25,000 25,000 0
0 B2S22ZHA 25,000
202 Oidl 22,908 22,908 0
01 =Wobl 22,908 22,908 0
0 Z2tLHO4 Bl 170,000& = 6Y » 128 12,240
0 220l 510,000& = 12& 6,120
0 NEZSRA AES
75,8003 * 10 * 32 » 23| 4,548
XM EAFE DL 152,399 141,369 11,030
FEIZAL & THALKISRD 62,715 60,709 2,006
101 ol | 42,180 40,174 2,006
10 JI2ZHH22NSEs 42,180 40,174 2,006
0 FEXZAH13Y) 42,180
o JlEa 30,900& * 90 * 139H 36,153
o Rasdsd 30,900& * 132 = 139% 5,223
o fltRaEFII==E
30,900 * 2 = 139% 804
201 L3 20,535 20,535 0
01 At 2t2ldl 20,535 20,535 0
0 Zet===4| 17,175
0 2g9+Y 70,000& = 43| = 12H 3,360
ZAHEI 28X & 89,684 80,660 9,024
201 Let3| 77,444 68,420 9,024
02 ==29gHl 77,444 68,420 9,024
03323 & WA 77,444
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202 Oddl 12,240 12,240 0
01 =2UWaHI 12,240 12,240 0
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0 22Kyl 510,000& = 128 6,120
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KA & NA=gE = 15,000 16,000 21,000
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403 AXIEHSXH=01H 10,000 10,000 0
02 ZJ/&SOICHECHEAFS H 10,000 10,000 0

0 Mel=2 FEAAH S& SX2 10,000
Ngz2tel 2SX2 65,345 61,885 3,460
201 LEHREH| 44,945 39,445 5,500
01 AtR2cibl 32,235 30,485 1,750

0 Let=EH] 32,235
02 3&=23Hl 12,710 8,960 3,750

05323 & HAl 10,310

0 AlE EHI% XIH 2,400
202 O 20,400 22,440 A2,040
01 2ot 20,400 22,440 A2,040

0 2L Yl 170,000& = 4% » 1228 8,160

0 22yl 1,020,000& « 12& 12,240
SZs AKX 163,447 147,609 5,838
SIAMel(Feal) 163,447 100, 120 53,327
Zel 34,000 34,000 0
207 SHAOHEH| 34,000 34,000 0
01 ¢S94 34,000 34,000 0

0 RAIHAL SA(SAH) 2,200,000& * 10 22,000

0 BItAHA BA(S9H) 1,200,000& = 10 12,000
del 2SN 119,447 66,120 53,327
201 LEHRHH| 103, 127 49,800 53,327
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0 get===4] 40,167
0 28+ 30,960
02 23294l 32,000 27,800 4,200
0 Al ZEHl St 32,000
202 OdHl 16,320 16,320 0
01 =LAl 16,320 16,320 0
0 2tLHOd bl 170,000& = 5% * 12& 10,200
0 220yl 510,000& = 123 6,120
Atztel 6,377,263 1,150,655 5,226,608
37 a2t 49,606 56,925 AT,319
I3 FMat2te 49,606 56,925 AT,319
101 el H] 10,506 9,714 792
10 JIZtH22ASE* 10,506 9,714 792
0 FRMa22I(1E) 10,506
o JlZs 30,900& * 280 8,652
o FUE(FAY) 30,9003 * 50 1,545
o AXtReEFII=E 30,900& * 10€ 309
201 ZEH2EH] 18,100 47,211 A29,11
01 AR 2&cldl 18,100 16,940 1,160
0 L=t 18,100
207 A FoHEH 21,000 0 21,000
01 ¢34 21,000 0 21,000
0 B2 ME AEHZ AL SL(0ITHR)
15,0002 * 1,4002 X| 21,000
AL 2 =SE2c 6,327,657 1,093,730 5,233,927
At2e] 5,847,545 529,546 5,317,999
101 el 14,214 13,246 968
10 JIZAH22ASES 14,214 13,246 968
028 U gExspel HEX(2Y)
30,900& * 60 * 29H 3,708
0 EAt&el (1Y) 10,506
o Jleg 30,900& * 280 8,652
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o fRaEsII=E 30,900& * 10 309
o =RUxH(FX2Y) 30,900& * 50 1,545
201 B2 43,658 0 43,658
01 At 2eld] 43,658 0 43,658
0 EAt2te| 43,658
203 YRFLAY| 1,500 1,500 0
03 AIEZFAHRFEY| 1,500 1,500 0
0 2. 37 L MBS HARFA 1,500
206 M=l 4,000 3,800 200
01 M=l 4,000 3,800 200
0 FAES 440,000& * 53] 2,200
0 EAIIAH 150,000& = 123 1,800
401 Al&BIZL20HYI 5,764,173 511,000 5,253,173
01 A&l 5,703,351 511,000 5,192,351
0 2228 E4H(20094E 2) 408,203
0 222 ERHI(20108 2) 364,470
0 HAIEZAE 15(358) 4,539,178
0 EA &2 E3A 50,000
025 APR4 Bt WS AH660M)
20,000
0olsS=d 22 FHIHSA(ZR, E-EAH
) 300,000
0 A 2= HUIBA(ZE S 0lA 30F) 10,000
0 ZIIAHH HUISAH33MA) 11,500
02 Zeltl 48,567 0 48,567
0 E2AF A=A Z2lEF 48,567
03 AlZ=0HHI 12,255 0 12,255
0 E2AE A=FZ AL 20 12,255
405 XH&HFE SHI 20,000 0 20,000
01 L ESHSHI 20,000 0 20,000
0 AFRE D7 20,000
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01 =LAl 19,800 19,800 0
0 283 04l 19,800
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301 et2d= 9,000 0 9,000
10 AIAHIZ& = 9,000 0 9,000
0 25E AZ2dd S22 MU (OHE
) 6,000
0 ZE2HESRE SZEsUe o2
(Ot=) 3,000
405 XtobESHI 40,000 130,000 290,000
01 L SESFHSHI 40,000 130,000 290,000
0 MEXIYTY 20N (5HS, o4)
20,000,000& = 2CH 40,000
Motz 2SN 237,212 271,481 A 34,269
201 LEH=23H] 222,932 255,161 232,229
02 =224 222,932 230, 161 NT,229
0 EA2EH 222,932
202 O4Hl 14,280 16,320 A2,040
01 AL 14,280 16,320 A2,040
0 a8 g20idl 14,280
o Y] 170,000& = 4% » 128 8,160
o 220l 510,000& + 123 6,120
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M WRES (MR

tel: BEXIE(MRD) (ctel &
SN S(B) - NRAY - B2 O] &k o8 e =2
0 LEH FA X2 0l AHAHE 276
601 XSS atE 9,200 9,200 0
06 JIEt=UXL Sz 4t 9,200 9,200 0
0 228 FA 13 34 9,200
HY 2L LU (R D) 76,581 77,340 AT59
OIHA2HHI (M) 35,381 36,140 AT59
ol 2| 35,381 36,140 AT59
101 QIZH| 31,181 31,880 A 699
09 RIAHAZZXHE S 31,181 31,880 A 699
0 NIEXASH(1H) 15,127
o JlEa 30,900& * 300 9,270
o &=z 9,270,000 * 4/12 3,090
o ReFEgsE 30,9003 » 52 1,607
o AXtY 30,900& * 15 464
o AlZHIZRSE
5,800& * 10AI2F » 123 696
0 A2 (1Y) 16,054
o JlEa 30,900& * 300¢ 9,270
o o403 9,270,000& * 4/12 3,090
o FHEUSFL(FI2Y) 30,9003 * 52¢ 1,607
o HRaEsII=+YE 30,900& * 15 464
o Z2HIHMZ(5E014)
9,270,000 * 10/100 927
5,800& * 10AI2t » 123 696
203 4,200 4,260 A60
04 RENM2IIRFLL 4,200 4,260 A B0
0 350,000& = 12& 4,200
|22l 41,200 41,200 0
=3 41,200 41,200 0
201 41,200 41,200 0
01 41,200 41,200 0
0 22,000
0 19,200




